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. B.AB. Sc.| Year Examination, 2015 (Unlfied Syflabus)

Mathematics-ll (Geometry & Vector Calculus)
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Find the equation of tangent at the point (n ,6 )ofthe conic i =1+ecos 6.

(i) ¥MHT 3x* ~2xp—5)® + Tx 9y = na%mwﬁra‘mrwﬁmwamaﬁml

Find the equation of the asymptotes of the conic 3x* ~2xy—5y* + 7x— 9y=0.
(i) 37 21 Yt & fes drsant £, m, usﬂ?ra%ﬁua‘rﬁmmvﬂ‘ramé’mé%

Find the dc's 7, m, n of two lines wh ich are connected by the relatmns
l+m+n= O mn—=2nl -2lm=

(iv). fagalf (1. 1,0) (1.2, 1), (-2, 2. —I)ﬁﬁﬁﬁﬁwmﬂﬁmwﬁﬁm

Find the equation of plane through'the points (1. 1. 0) (4,°2; 1).(-2: 2:.-1).

(v) f&=3it (0,0, 0), (0, 1, -1), (-1,2, 0) Td (1, 2, 3)@@3@%&%&5@%%@!
Find the equation of the sphere through the points (0, 0, 0), (0, I, -1),(-1,2,0) and (1, 2, 3y
(vi) mm@aﬁmmaﬁ?ﬂ%ﬂmaﬁé(ﬁo 0)%aanaﬁqax +y +2 +x- 2y+J,m4 0
x— _}+"=2'\£T713‘R_T%|
Fmd the equanon ‘of the cone with vertex (0,0, 0) and passing through the clrcIe
T+ 42 4x-2y+3z-4=0; X—-y+z=2

(vu)?{qﬂﬁ!x+my+n7*p$mﬁ)_dax +by +ez hla‘rwmaﬁmﬁmaﬁﬁm

Find the condition that the plane Ix + my + nz = p, touches the coincoid ax? + by’ +cz? =1
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The vector @ (¢)has a constant direction if and only if @ x = =0.

dt
(1x) ﬁ:fa a?r%m f& : Prove that ;
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(x) maa?r%ujﬁd“amr =x* i+ y’ j T C WRaed y=x" B! qwad x - y ¥ g (0, onfm 1)
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S gD @ &l Evaluate _[F dr, where F =x* i+ y’ jandCis the arc of the paraboia y=x'in

thex — yplane from (0, 0)to (1, 1). s
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2. Waog & fFrefua sifsw : Tracé the parabola : 4x* —dxy + y? =8r—6y+5=0
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at the straight lines
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Find rhf: shortest dismnce betweenthe inesZ 2 Y8 -3  (¥+3 a7 26 i
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equations and the points in \yhlch it meets the given lines.

A 'ﬂfi:IWUT a’ﬁ e W9 3§ ofRaw : Reduce the equation to standard form :

i)) +2I:'.—7y"+ dzx—2p+ 14y =16y + 142+ 26=0, goTs-11l
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From a point P (ad8 y .z )a plane.is drawn at right angles to OP to meet the coordinate axes at A,B and
A
whel er is the measure of OP and O is the origin.

2% ¥ z P
. TE @ E'IBE’\’?F:H yig @ fiRae aur g SISl State and prove ‘Gauss divergence theorem.
8. |Fi@ HITSTe b IHIEHxoT : Prove that the equation BV

v: o+ by + cz? +2ux+ vy + 2wz + d =0

(e 3@ @1 yafdfd ol & Elﬁ-' represents a cone if :

C. Prove that the area of triangle ABC is

L + l— + e ol
a b o
I Qe B wﬂmma%%m%mﬁmm%-_—g-ﬂ$ﬂw€mmsth +29} =1,2=0
g TSI &Il Find the equation of the cylinder whose generatorls are parallel to the line - 2 =_}2 =§ - and
passing through the curve yi+2y'=1z=0
0
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